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2006

2007
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33,754,545 26,367,685 7,386,860[ 5,050,000 ]
28,933,981 21,576,211 7357,770|[ 5,050,000 ]
5: 28,167,359 20,811,920 7355439|[ 5,050,000 ]
5- 5,526,532 5,524,201 2,331
771,348 769,794 1,554
(3210-3218-120-202-01)
75,800 * 3 *2 * 10 = 4,548
4,548,000 - 2,994,000 = 1,554
3,504,274 3,503,497 777
(3210-3218-120-202-01)
75,800 * 3 *2 *5 =27274
2,274,000 - 1,497,000 = 777
5- 12,009,084 8,308,307 3700,777|[ 2,200,000 ]
Dream Map21 11,603,274 7,902,497 3700,777|[ 2,200,000 ]
(3210-3218-120-202-01)
75,800 * 3 *2 *5 =27274
2,274,000 - 1,497,000 = 777




( )
(3210-3218-210-402-01)
( 3.900,000)
. = 4,400,000
( 3.900,000,000)  ( 2.,500,000,000) ( 1.400,000)
4,400,000,000 - 3,000,000,000 = 1,400,000
(3.000,000)
= 4,000,000
( 3.000,000,000)  ( 2.000,000,000) ( 1.000,000)
4,000,000,000 - 3,000,000,000 = 1,000,000
( 1.200,000)
= 2,700,000
( 1.200,000.000)  ( 1.400.000,000) (  200.000)
2,700,000,000 - 1,400,000,000 = 1,300,000
5- 10,256,548 6,604,994 3651,554/[ 2,850,000 ]
9,550,000 5,900,000 3650,000[[ 2,850,000 ]
(3210-3218-210-402-01)
( 4.850,000)
= 6,250,000
( 4.850,000,000)  ( 2.000,000,000) ( 2.850,000)
6,250,000,000 - 3,000,000,000 = 3,250,000
(3210-3218-220-402-01)
= 900,000
900,000,000 - 500,000,000 = 400,000
206,548 204,994 1,554
(3210-3218-120-202-01)
75,800 * 3 *2 *10 = 4,548
4,548,000 - 2,994,000 = 1,554
5- 375,195 374,418 777




203,474 202,697 77
(3210-3218-120-202-01)
1SO
75,800 *3 *2 *5 =2,274
2,274,000 - 1,497,000 = 777
766,622 764,291 2,331
635,574 634,797 777
65,574 64,797 77
(3210-3218-120-202-01)
75,800 *3 *2 *5 =2,274
2,274,000 - 1,497,000 = 777
131,048 129,494 1,554
61,048 59,494 1,554
(3210-3218-120-202-01)
75,800 * 3 *2 *5 =2,274
2,274,000 - 1,497,000 = 177
75,800 * 3 *2 *5 =2.274
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